
u1            u2 

𝑓2 

節点① 

𝑓1 

𝑘1 𝑘2 

節点② 

① ② 
𝑓1 𝑓2 

𝑘2 𝑢2 − 𝑢1  𝑘1𝑢1 

𝑓1 = 𝑠1 − 𝑠2 = 𝑘1 + 𝑘2 𝑢1 − 𝑘2𝑢2 

𝑓2 = 𝑠2 = 𝑘2 𝑢2 − 𝑢1 = −𝑘2𝑢1 + 𝑘2𝑢2 

ばね1 ばね2 

伸び量𝒆 𝒆𝟏 =u1 𝒆𝟐 = 𝒖𝟐 − 𝒖𝟏 

ばね力𝒔 
𝒔𝟏 = 𝒌𝟏𝒆𝟏 
   = 𝒌𝟏𝒖𝟏 

𝒔𝟐 = 𝒌𝟐𝒆𝟐 
      = 𝒌𝟐 𝒖𝟐 − 𝒖𝟏  

節点①では 

節点②では 

𝐹 =
𝑓1

𝑓2
=

𝑘1 + 𝑘2 −𝑘2

−𝑘2 𝑘2

𝑢1

𝑢2
= 𝐾 𝑈  



𝐹 =
𝑓1

𝑓2
=

1 −1
0 1

𝑠1

𝑠2
= 𝐵 𝑇 𝑆  

𝑓1 = 𝑠1 − 𝑠2  

𝑓2 = 𝑠2 

①力のつり合い式： 外力 𝐹 と内力＝ばね力＝ 𝑆  

②適合条件式： 変位＝ 𝑈 と内的な変形＝ 𝐸  

𝐸 =
𝑒1

𝑒2
=

1 0
−1 1

𝑢1

𝑢2
= 𝐵 𝑈  

𝑒1 =u1 

𝑒2 = 𝑢2 − 𝑢1 

③ばねの構成式： ばね力＝ 𝑆 とばねの伸び＝ 𝐸  

𝑆 =
𝑠1

𝑠2
=

𝑘1 0
0 𝑘2

𝑒1

𝑒2
= 𝐷 𝐸  

𝐹 = 𝐵 𝑇 𝑆 = 𝐵 𝑇 𝐷 𝐸 = 𝐵 𝑇 𝐷 𝐵 𝑈 = 𝐾 𝑈  

𝑠1 = 𝑘1𝑒1 

𝑠2 = 𝑘2𝑒2 


